4. Why coherent sources are necessary for

interference ? Explain it.
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5. Explain the construction of Newton’s ring B.Sc. (Part II) Examination
experiment set-up. PHYSICS
= FeTd TAN AT Hi IS Tl HHIAR | (Optics)
6. What is the difference between Michelson’s ‘QEFI'['\S'ITzlﬁ‘
interferometer rings and Newton’s rings ? Paper : PH-06
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7. Explain the Fraunhofer diffraction due to circular
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given

aperture. instructions.

JAHR G FRI W oo ol THemsy | o - T7 TH-TF o’ R ‘F A wuel § vt 21 vew
8. Briefly explain the resolving power of grating. TUe % RITER T9 & IW
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9. Explain the working of Half wave plate. (Very Short Answer Type Questions)

g T Ufe F FEA TEETET Note .— Answer any four questions. As per the nature of
the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 1% marks.
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Write the Fermat’s principle in optics.
YRR § wHe o1 fagr fafeaw)

What do you mean by Spherical Aberration ?
et foaem & eTaeht 1 acad § 2

Draw the intensity pattern due to Fresnel’s

diffraction from straight edge.
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Write the formula for resolution limit for
telescope.
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What is stimulated emission ?
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Write the wavelength of Ruby Laser.
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(vii) What do you mean by elliptically polarised
light ?

STHgT Yfad U1 § SR = A ® 2
(viii) What do you understand by Optical Activity ?
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Section-B 4x7=28

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
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. Briefly explain the law of refraction from Fermat’s

principle.
T & fagra ¥ I9adq & a8 &1 9899 § 990

. Write any three methods to reduce the spherical

aberration.
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